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#include <bits/stdc++.h>
using namespace std;

using 11 = long long;

using P = complex<1l1>;

11 cross(P a, P b){ return a.real() * b.imag() - a.imag() * b.real(); }

*1 https://atcoder. jp/contests/math-and-algorithm/tasks/math_and_algorithm_ah



11 dot(P a, P b){ return a.real() * b.real() + a.imag() * b.imag(); }

// R p PHED a-b IKEENhBHEDH
bool on_segment(P p, P a, P b)
{
if (p == a || p == b) return true;
Pv0 =a-p;
Pvl=">b- p;
//p B a-b EA—ERLE MDD p AT a & b AR
return (cross(v0, vl1) == 0 && dot(v0, v1) < 0);

bool intersect(P pO, P p1, P q0, P ql)

// 1 RRDE D FADRD EICHNIE true
if (on_segment(pO, q0, q1) || on_segment(pl, 90, ql1) ||
on_segment (q0, pO, pl) || on_segment(ql, pO, pl)) return true;

/7 2. COBERTEITOLEEF false
// (A—ERETERLZT—RFLED 1 TRETH)
if (cross(p0 - pl, 90 - ql1) == 0) return false;

// 3. URRIEFITTRWIT—2R
// EE: cl *xc2>0 CAFSHELLIETREMHINDEETNLHS

// 3.1 p BhHHlcEE

P vO = pl - pO;

P vl = q0 - pO;

P v2 = q1 - pO;

11 c1 = cross(v0, v1);

11 c2 = cross(v0, v2);

if ((c1 > 0 && c2 > 0) || (c1 < 0 && c2 < 0)) return false;

// 3.2 q hboHlcEE

vO = ql1 - qO0;
vl = p0 - q0;
v2 = pl - q0;

11 c3 = cross(v0, v1);
11 c4 = cross(v0, v2);
if ((€3 > 0 && c4 > 0) || (c3 < 0 && c4 < 0)) return false;



return true;

int main()
{
vector<P> p(4);
for (int i = 0; i < 4; i++){
11 x, vy,
cin > x >> y;

plil = P(x, y);

cout << (intersect(p[0], pl[1], p[2], p[3]) 7 "Yes" : "No") << endl;

return 0;



